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234234234234    -�56-�56-�56-�56    5�5�5�5�     20$1 �20$1 �20$1 �20$1 �    ((((�) ) ) ) -9-9-9-9::::    ;10<=;10<=;10<=;10<=////Mark (Mark (Mark (Mark (����) against the ) against the ) against the ) against the correct option.correct option.correct option.correct option.    5555××××1=51=51=51=5    

ू. 1 R$V; �E p�03V" 3L? Amarbel is an example? 

 (R) ³�K�4 50 autotrophic (;) �Vd4�4 50 parasitic 

 (2) $}GK�d4�4 50 mortal (�) �V�K�4 50 host's 

ू. 2 ू.KX�0E0 G0�$0�4 $H -1D1 $H 2 � -52 ��0# � 50 p�.KX 3KG0 3L ? 
Which of the following materials is used in laboratory thermometers? 

 (R) 2K-f.$ Sodium (;) �0V0 Mercury 

 (2) =­ . a-$-1.$ Aluminum (�)  9$54E0 �014 Sparkling Water 

ू. 3 x� $H 5¤1-20 RDE �0.0 d0G0 3L?/ Which alka is found in milk? 

 (R) EL-µ5 RDE Lactic acid (;) 24-श5 RDE Citric acid 

 (2) I0I�-V5 RDE Tartaric acid (�) $ L-E5 RDE Malic acid 

ू.4  -1D1 $H 2 �  ¤-G5 �-V�G �1 3�? / Which of the following are physical changes? 

 (R) dXं EX10 Get rusty (;) ;v�  50 -��E10 Ice melt 

 (2) x� 50 �34 ;110 Curdling of milk  

 (�) 5I� q= 2 �; 50  !V0 3K10 Browning of sliced apples 

ू. 5 �0. a 50 � �X ;·1 � 2 � �0. a 50 �0;?/ Air pressure due to increase in air velocity? 

 (R) ;¸ d0G0 3L Rises up (;) �I d0G0 3L Goes down 

 (2) 5Kr �-V�G �1 134 3KG0 No change (�) ¹X a10 3K d0G0 3� Gets doubled. 
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;q-�564.;q-�564.;q-�564.;q-�564.    ूूूूँँँँ1111/M/M/M/Multiple ultiple ultiple ultiple CCCChoice hoice hoice hoice QQQQuestionsuestionsuestionsuestions            5555××××2=102=102=102=10    

ू.6 �0��t $H dE 50 �-V�31 3KG0 3� ? / How does water transport in plants? 

 (R) d0<E$ 5�  �0V0 by Xylem   

(;) ºEK<$ 5�  �0V0 by Floim 

 (2) Vंीt 5�  �0V0 Through Stomata  

(�) �-b.t 5�  �0V0 by Leaves 

ू.7  dE $H � aE4 �Z�4d1 50 p�.KX 5V1 � $H 230.5 3�? 
 What are the uses of oxygen dissolved in water? 

 (R) »EK$ Loam (;) V� Stomata 

 (2)  $ aF Mouth (�) 1020-¦ि Nostril 

ू.8  50-.5 d11 3KG0 3L? Is there vegetative reproduction? 

 (R) �¼ $H in Potatoes (;) X �YZ $H in Wheet 

 (2)  14$ $H in Neem (�) $IV $H in Peas 

ू.9  -�� aG 2 �E 5�  I-$ �1E 54 2ं̈ 0 3KG4 3L? 
 What is the number of terminals of an electric cell? 

 (R) 1  (;) 2 

 (2) 3  (�) p�. a�� $ � 2 � 5Kr 134 none of the above 

ू.10  �}½4 50 -5G10  0X dE 2 � -�V0 q� 3�? 
 How much of the earth is covered by water? 

 (R) 3/4  (;) 1/2 

 (2)  1/2  (�) 1/3 

-V�-V�-V�-V�    �01t�01t�01t�01t    54545454    �!-G �� !-G �� !-G �� !-G �    54-d=54-d=54-d=54-d=    fill in the blanksfill in the blanksfill in the blanksfill in the blanks            10101010××××2=202=202=202=20    

ू.11  ¥t-5 3V� �0�� R�10 F0� ³. ं;10G � 3L, <2-E= p¾� ……………53G� 3�। 

Because green plants make their own food, they are called …… 

  ( -��$�K�4 Heterotroph / ³�K�4 Autotrophic ) 
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ू.12 �� a 5�  X$ ��1 .0 ¿Àड��1 5�  $0� 5K ……53G� 3�।  

The measure of hotness or coldness of an object is called …….  

(G0� Temperature / [Á0 Heat) 

ू.13 RDE, 14E� -EI$2 �ऽ 5K ………….5VG� 3�।  

All, blue litmus letter is called ………….   (E0E Red / 3V0 Green) 

ू.14 Î0V1 �fK X3V� VंX 54 54� 5�  �50V 5�  …………. 3KG � 3�। 

 Tornado dark funnel shaped …………. There are.  

      (;0�E Cloud /G!v01 Storm) 

ू.15 ॑�. 2 � V� 50 �V4V 5�  -�- Ã RXंK $H �-V�31 ………. 5�  �0V0 3KG0 3L । 

Transport of blood from the heart to different parts of the body………. is done by. 

     (�$-1.t Arteries  /-�V0¡ ंVeins) 

ू.16 R�-�Ä ��0#ª 5K �V4V 2 � ;03V -150E1 � 5�  ूब$ 5K …...........….53G� 3�। 

The process of removing waste materials from the body is called 

…………….  

(p�d �1 Emissions /ँ�21 Respiratory) 

ू.17 �¼ 5�  …….. �0V0 ूd11 5VG� 3�। Potatoes reproduce by ……..  

(E�-X5 d11 Sexual reproduction/RE�-X5 d11 Asexual Reproduction) 

ू.18 -d1 ��0#ª $H -�� aG �0V0 50 ू �03 3K 25G0 3� p¾H ............... 53G � 3�।  

 The substances in which electric current can flow are called …………. 

    ( 2 a90E5 Good Conductor / 5a90E5 Insulator) 

ू.19 �¤� � ू50� 2ंँ E��" 5�  �¤V01 …………. X L2 म3" 5VG � 3�।  

 Plants during photosynthesis …………. take gas. 

(Å�4d1 Oxygen /50; �1 ड0rÅ�0<ड Carbon dioxide) 

ू.20 �0. a$ÀडE $H ........................... X L2 54 $0ऽ0 2�0 �-�5 3KG4 3�।  

 The amount of........................... gas in the atmosphere is maximum. 

    (10<शKd1 Nitrogen /Å�4d1 Oxygen) 
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234234234234    dKf4dKf4dKf4dKf4    -$E01-$E01-$E01-$E01    54-d=54-d=54-d=54-d=////    MMMMatch the correct pairatch the correct pairatch the correct pairatch the correct pair  5555××××2=12=12=12=1    

ू.21 #E 2$4V 5�  ;31 � 50 2$. (5) X-$ �.0Z  
 Time of land breeze  Summer 

ू.22 2$ aि 2$4V 5 ;31 � 50 2$. (F) 2-�Æ.0Z 
 Sea breeze time  Winter 

ू.23 3£�  VंX 5�  5�f� �2�ं 5V1 � 50 2$. (X) -�1 
 Time to choose light colored clothes Day 

ू.24 X3V� VंX 5�  5�f� �2�ं 5V1 � 50 2$. (�) V0G 
 Time to wear dark clothes  Night 

ू.25 -�� aG G0V  (�) G0Z;0 
 Electrical wire  Copper 

2 2 2 2     .0.0.0.0    R2 R2 R2 R2     ;G0<=;G0<=;G0<=;G0<=/T/T/T/Tell true or falseell true or falseell true or falseell true or false            5555××××1=51=51=51=5    

ू.26 .5} G $01� �V4V 54 2;2 � ;f4 म-ं# 3�। 
 The liver is the largest gland in the human body. 

ू.27 �� a¡ ं50 G0� $0�1 � 5�  -E= #$0 �$4IV 50 p�.KX -5.0 d0G0 3L। 
 Thermometers are used to measure the temperature of objects. 

ू.28 ;v�  50 -��E10 V020.-15 �-V�G �1 3�। 
 Melting of ice is a chemical change. 

ू.29 $01� ँ�21 -ब.0 $H Å�4d1 X L2 म3" 5VG� 3�। 
 Humans take in oxygen gas in the respiratory process. 

ू.30 �¼ $H 50-.5 d11 3KG0 3�। 
 Vegetative reproduction occurs in potatoes. 

R-GR-GR-GR-GE�!bV4.E�!bV4.E�!bV4.E�!bV4.    ूूूूँँँँ1111/Very Short Answer QuestionVery Short Answer QuestionVery Short Answer QuestionVery Short Answer Question  5555××××2=102=102=102=10 

ू.31 -5¾4 �K ू05} -G5 2!95t 5�  10$ -E-F=? 
 Name any two natural indicators? 
ू.32 �K�" 54 �3 -�-� -d2$H d4� R�10  Kd1 ³. ं;10G � 3L, » .0 53E0G � 3�? 
 The mode of nutrition in which organisms make their own food is called? 

ू.33 �� ��0# � -d1$H [Á0 50 90E1 �2014 2 � 3K d0G0 3L 53E0G � 3�? 
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 Substances in which heat can be easily conducted are called? 

ू.34 ॑�. Ç�ं1 5K $0�1 � 5�  -E= -52 .ऽं 50 p�.KX -5.0 d0G0 3L ? 
 Which instrument is used to measure heart beat? 

ू.35 ��0 � 5�  dE 5K =5-ऽG 5V  Àड0V" 5V1 � 54 ू-ब.0 5K ¥0 53G � 3�? 
 What is the process of collecting and storing rainwater called? 

E�!bV4.E�!bV4.E�!bV4.E�!bV4.    ूूूूँँँँ1111////SSSShort hort hort hort AAAAnswer nswer nswer nswer QQQQuestionuestionuestionuestion            5555××××3=153=153=153=15    

ू.36 [Á0 90E5 G#0 [Á0 VK�4 ू �5 5�  �K-�K p�03V" -E-F=। 
 Write two examples each of heat conductor and insulator.  

ू.37 G-डG 90E5 -52 � 53G � 3� ?/ Who is a lightning driver? 

ू.38 V� 5�  �I5t 5�  10$ ;G0<= ?/ Name the components of blood? 

ू.39 54It $H ँ�21 5L2 � 3KG0 3L ?/ How does digestion take place in insects? 

ू.40 -;dE4 5�  FÈt �V 9¸1 � �0E0 É-� V;V 5�  ��01 � ¥t �31G0 3� ? 
 Why does a person climbing an electric pole wear rubber gloves? 

�4� ��4� ��4� ��4� �    pbV4.pbV4.pbV4.pbV4.    ूूूूँँँँ1111//// Long Answer Type QuestionsLong Answer Type QuestionsLong Answer Type QuestionsLong Answer Type Questions            10101010××××2=202=202=202=20    

ू.41 (5) $1 aÊ 5�  �091 Gऽं 50 10$-ं5G -9ऽ ;105V 2$�0<= । 
 Draw a labeled diagram of human digestive system and explain. 

(F) dXं EX1 � 54 ू-ब.0 5K 2$�0<= =� ं<22 � ;90� 5L2 � -5.0 d0 25G0 3L?  
 Explain the process of rusting and how it can be prevented? 

ू.42 (5)  !5� �1 � 54 �I10 5K 2$�0<= G#0 <22 � ू 0-�G 3K1 � �0E� m �ऽt 5�  10$ ;G0<= 
  Explain the phenomenon of earthquake and name the areas affected by it? 

 (F) ँ�21 Gऽं 50 2-9ऽ �" �1 54-d=। 
  Give a pictorial description of the respiratory system.  


